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Note : This question paper has two Sections—

Section A and Section B. Both Sections are 

compulsory.  

Section—A 

1. Fill in the blanks by choosing the correct 

answers from the choices given below : 15×1=15 

(Spacers, insulation, kWh, kVAh, cash, star, 

trivector, cross-arms, preventive, ABT, risers, 

lines, reactive, interlock, short circuit)  

(i)  The best grounding system is in the form 

of earthmat with ........... 
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(ii)  An ............. is provided between isolator 

and ............. earth switch. 

(iii)  Surge arrester is installed for protection 

of switchgear, transformer and ............. . 

(iv)  Circuit breaker can interrupt large 

............ current.    

(v)  ................ compensation is provided by 

shunt capacitor in a substation. 

(vi)  ............ are provided to overcome the 

problem of clashing of LT conductors in 

the mid span. 

(vii)  .............. are provided in a pole to given 

mechanical support to multiple 

conductors. 

(viii) ............. maintenance should be carried 

out for detecting deterioration of system 

components.  

(ix)  The energy meter is the .............. register 

of the power utility. 

(x)  .............. compliant meters are known as 

special energy meters. 

(xi)  ............ meters are used for HT 

consumers. 

(xii)  Unit of electrical energy is .......... 
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(xiii) Trivector meter can record .............. . 

(xiv)  .................. resistance is measured with 

the help of meggar.  

(xv)  Secondary of transformer winding is 

generally connected in ............ . 

2. Write True or False in the statements given 

below :   10×1=10    

(i) The rated voltage of 33 kV arrester in  

30 kV. 

(ii) Dissolved gas analysis is carried out is case 

of a circuit breaker.  

(iii) Static meter’s accuracy class is typically 

0.2. 

(iv) Silica gels are kept in transformer 

breather. 

(v) Low power factor contributes to high 

technical loss. 

(vi) For oil fire, foam type extinguishers are 

used. 

(vii) Transformers can change frequency of 

electric supply. 
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     (viii) Secondary output current of  a CT may  

be 5A. 

(ix) No earth switch can be closed unless the 

corresponding isolator is in open position. 

(x) Overloading of a distribution transformer 

can be detected with the help of Tong 

Tester. 

3. Match the following given in Column A with 

Column B :  5×1=5 

Column A Column B 

(a) Conductor (i) Relay 

(b) Multiplying 

factor  

(ii) XLPE 

(c) CT (iii) Porcelain 

(d) Cable (iv) Sag 

(e) Bushing (v) Energy meter 

Section—B 

Note : Answer any eight questions from the 

following. 8×5=40 

4. Describe about Ring Main System. 

5. Describe the various measures that can be 

taken for reducing commercial losses.   
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6. Describe with examples how CT/PT installation 

can cause significant loss in terms of revenue. 

7. Write a brief note on static meters. 

8. Differentiate between power cable and control 

cable. 

9. Why single/two phasing in rural areas should 

be prevented ? 

10. What precautions should be taken for storage of 

cables ?  

11. Why is reactive compensation needed in 

distribution system ? How is it provided ? 

12. What are the advantages of HVDC ? 

13. What are the advantages of cable transmission 

with respect to overhead lines ? 
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(ii)

(iii) ] ª

(iv) ]

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)
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(xii) ª

(xiii) ª

(xiv)

(xv) ª

10×1=10 

(i) kV

(ii)

(iii)

(iv) ª

(v) ]

(vi)

(vii) ª ]
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(viii) A 

(ix)

(x) ª

5×1=5

(i) 

(ii) XLPE 

(iii) 

(iv) 

(v) 

8×5=40
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